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Value of the Digit - MCQ

1) Choose the correct number in which 2 has the value 2,000.

a) 796,821 b) 634,278 c) 128,469 d) 382,641

2) Choose the correct number in which 8 has the value 80.

a) 344,786 b) 628,691 c) 9,862 d) 93,158

3) Choose the correct number in which 1 has the value 1,000.

 

a) 63,156 b) 15,027 c) 631,785 d) 472,691

4) Choose the correct number in which 5 has the value 500,000.

a) 842,513 b) 523,971 c) 56,803 d) 2,105

6) Choose the correct number in which 9 has the value 9,000.

a)

a)

42,924 b) 179,218 c)

c)

34,692 d) 6,789

b)

c) d)

7) Choose the correct number in which 3 has the value 300,000.

a) 467,203 b) 93,169 214,738 367,421

8) Choose the correct number in which 7 has the value 7,000.

96,724 29,278 227,946 d) 72,639

5) Choose the correct number in which 6 has the value 60,000.

a) 467,581 b) 31,654 c) 7,469 d) 124,386
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